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n Choose the correct answer from those given

{(-5,5)} 12 BB Bl Theoriginpoint [ {(3,4)}
B zero I} Parallel Coincident E] a=

El k=4 mk=3 gmlnfinitenumbers §k=3

9 and 4 m X +8 E X-4 X+10Y
17 KO, émzeru m{Z,B} m(j)

Intersect X-axis in one point ] 4 E 1 m ZEero

EH 4and5s mz 4 ém{(E.B).(-—E.-B)}
E (4,2) E {o} EIR B {o0,1}

B & Ea -50 Hs ER

Ed R-{4,-4} ml[a émUndEﬁ_ﬂEd m >
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H 2x-1 ml % ém]ﬁ-{’?}
E| R-{2,-5} B R-{o} Bl x B R-{4,7}
E£] Undefined EA 8

B Find algebraically in R x R the solution set of each pair of the following equations

BN 2x-y=30® X4+2y=4 @ Bl 3x+4y=24 @ X-2y=-2 @
Multiply the two sides of equation (1) by 2 Multiply the two sides of equation (2) by 2
Weget: 4X -2y =6 ® . Weget:2X-4Y=-4 ®
adding®+@ 4X-29 =6 © adding®+@® 2x-49=-4 (0

X+27 =4 @ 3X +.4Y =24 ®

5.5x =10 L X=2 S 5X=20 L X=4
By substituting in 2 VZ+2y=4 By substituting in (1 S3x4+4Y =24
52y m4-2m2 L Yy=1 L4y +12=24 L4y =24-12=12
> S8=4(2,1)} . LY =3 5. 8.8=1{(4,3)}

B31+2}’=11® 2X +3YyY =14 @n%+%=%® ;+2Ty= @
Multiply the two sides of equation (U by 3 Multiply the two sides of equation (1) by 10
Weget:9X +6)Y =33 ® Weget:2X +4Y =4 ®
Multiply the two sides of equation @) by - 2 Multiply the two sides of equation (2) by - 6
Weget:-4X -6)Y =-28 @ Weget:-3X -4y =-12 @
adding® +@  9Xx 4+67Y =33 ® | adding® +@ 2X+4Y =4 ®

-4X -6y =-28 @ -3X-4Y=-6 @
~5X=5 LX=1 . F Ko
By substituting in (U S3+2)Y =11 By substituting in @ S 4+4Y =4
;e2Y=11-3=8 Sy =4 Ay =4_4=0 L Y=0
~.8.8={(1,4)} - ~ss={(2,0)}
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Hx-y=10 x24y2=125
Fromeq() X -Y =1 Weget X=1+Y &
By substitutingin@® ... (1+Y)%*+y%=25
~1+2Y +y%4+ y2=125
~2Y242y +1-25=0
~2y242y-24=0 divideboth sides by 2
Y i y-12=0 -~ (¥-3)(¥+4)=0
. ¥=3 or Vy=-4
By substituting in &

At: ¥y =3 S X=14+3=4
At: Y=-4 . X=1+(-4)=-3
~.8.8S={(-3,-4),(4,3)}
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y-Xm8® X4V m1n B
Fromeq(1) Y -X=3 Weget Y=3+X @
By substituting in @)

s x24(34x)2-x(34Xx)=13
sx?2io0pexpxtnx ~x? 19=0
~x%13x-4=0 S(x-1)(x+4)=0
SoX=1 or X=-4

By substituting in &

At: X =1 S Vy=34+1=4

At: X =-4 SLY=1+(-4)=-1
.88={(-4,-1),(1,4)}

B Findin R

2x?-4x41=0
a=2,b=-4and c=1

the solution set of each of the following equations using the general formula

n xX(x-1)=4

—bin2-4ac @=EN16-4x2x1

X =
2a 2x2
s
=4_Jﬂ_ X=4+ﬁ=1.707
4 B
4-.8
or X= 4J_=0.293

- S.8={1.707, 0.293}

4

EX X-=
wx%_4=4x . x%-4x-4=0
a=1,b=-4and c=-4

Multiply both sides by X

Complete by yourself

yi. x2=7 @
Fromeq() X +Y =7 Weget Y=7-X @
By substitutingin @ .. (7-x)2-x2=7
549 J4X4 X © =X =]

S, -14X +49-7=0
S.o-14X +42=0 .. -14X =-42

Je X =3
By substituting in @
At: X =3 S yYy=7-3=4

~.S.S={(3,4)}
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Multiply the two sides of equation 2) by Xy

Wegets Y+X =2Xx)Y ®
Fromeg() ¥ +X =2 Weget Y=2-X 3
By substituting in &)

P - 2X(2-x) .. 2=4x-2x2
. 2x%2.4X +2=0 divide both sides by 2
R X +1=0 S(x-1)2%=0

-'-. x == 1
By substituting in (U
At: X =1 S Ymd=-1m]

. X:e X <4=0
a=1,b=-1and c=-4

—bijbz—f-}ﬂc _li\/1—4xlx-4

X =

2a 2x1
=1_ L ..I=1+ 17:2562
2 2
1-y17
or X= > =-1.562

~.S.S={-1562,2.562}

X
s Bud= X% A x2+x-3=0

a=1,b=1and c=-8

Complete by yourself

"
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

I L

~x2_11x4+9=0

a=1,b=-11and c=9

Complete by yourself
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n in each of the following Find n(x) in the simplest form showing the domain of each of them

_ x%.95 _ {x-5)(%x45) _ wPoax wlx 2)(x42)
(X ) o™ (x_s)(xIZ) Bn(X) = Sxr ex- 1(1—3)(1‘5)
. Domain=R - {5, -2} . Domain=R-{0,3,2}
n(x) = (x/S)(x+5)= (X +5) i) = _x(x<2)(x+2) (x+2)
' (x-5)(x+2)  (x+2) ] - 2(x-3)(x<2)  (x-3)
- e e me— T
B“(xhi x2_-16 B 0N = sx 18 5sxs22?
" X + 4 _ X-6 i X -5
=y _a T (x-2)(x +4) ~(@x-3)(x-6) " (2x-3)(x-5)
. Domain=R - {4, - 4} * Domain=R-{6,5,3
X 4 _ X ~6 X ~5
0(X) = 7 + TP GTD s Ex-3(F26) ' @ -(E=5)
SN Sappen S %;HB =m zx 5= 7x -3
..................................... = T M peesee TTFL TP
B n(x) = X3-8 xlrx-6 gﬂ“(x)_ E_x2 ~ x2_-6x4+5
x24i2x+ 4 . x2_g (x 1)(x-2) o 3(x)( 5) )
= - _ g _9 T -5)x -1
e ey~ T D 1 (x/(i)(x) D) (-5 (x-1)
B = % : fiﬁﬁi”fi A NE+1) ~ T 3(x<5)
(x_z).(xwﬂ) . s Domain=R-{1,-1,5}
-. Domain=R-{2, -3} (x)_x_z I-l_(I-—l)(I—E)
;Il(.I):xL_z ;—:g=i—:§=1 |ll _x+1+ 3 7 3(x+1)
.......................................... xz_sxx2+3x+9
Br(X)= s B2
__x(x<5) x? +3X +9
T (x-3)(x~5) (x&3)(Xx2$3x%9)

. Domain = R - {3 ,5} complete by yourself

. 1 X +1
(X)) =53+ x_3\x-3
** 1 € Domain n(l)_l"';:—z

**S@&Domain ..n (5)undefined

B Answer the following question

EJ -domain=R-{3} X24aXx+9=0 at X =3 substituting by 3 in the denominator

S 9+3a+9=0 S.3a=-18 Soa=-
........................................................................................................................................................................................................................................................... 5
Bl -domain=R-{2,3}

~X%’tax+b=0 at X =2and3

substituting by 2 in the denominator .. 4+2a+b=0 S.2a+b=-4 ®

substituting by 3 in the denominator .. 9+3a+b=0 S.3a+b=-9 @

Multiply the two sides of equation (1) by - 1 Weget: -2a-b= 4 3

adding @ + @ Weget: a=-5 By substituting in (D h=~6
........................................................................................................................................................................................................................................................... »
El ni(x)= xf—-zi'f = ;i((xx:lz)) = ;irx___lz)) anditsdomain=R-{0,2} @
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x2-3x+2  (x-1)(x-2) (x-1)
x3-4x2+4x x(x-2)(x-2) x(x-2)

,n1(Xx) =

From() and @ ..n1=n2

and its domain=R-{0,2} ®

s z(f)={3!5}

s~ f33)=0 . 9a+3b+15=0 9a+3b=-15 0
, f(5)=0 5. 25a+5b+15=0 ;.25a+5b=-15 @

Multiply the two sides of equation (1) by - 5 Weget: -45a-15b= 75 ©

Multiply the two sides of equation (2) by 3 Weget: 75a+15b= - 45 @

adding @ + @ Weget: 30 a=30 Soa=1

By substitutingin @) .. b=-8
........................................................................................................................................................................................................................................................... @
I - letlength = x and width=Yy

A length of a rectangle is 3 cm. more than its width means: x-y=3 @

area is 28 cm’ means: Xy =28 @

solve the two equations together by yourself x =7and y =3

s e 0 3 S o 0 o o g T st e o e e A i R B A i i &
K3 - let the lengths of the two sides of the right-angle are x and ¥

the length of the hypotenuse = 13 cm. = Xx24y%2=169 @

perimeter = 30 cm. => X+¥Y+13=30 == X4+¥=17 )

solve the two equations together by yourself x =12and y =5

........................................................................................................................................................................................................................................................... -9
try yourself
e e e e e R e B e e e B e R Be e e e rra e - - I s v e e e R S R e e e e T e e iR pa e e e i e -®
EJ . let the digit of ones is X and the digit of tensis ¥y then : the numberis x + 10y

the sum of its digits is 11 = X4+¥y=11 @

if the two digits reversed (¥ + 10 x) , then the resulted number is 27 more than the original number

(¥ +10x) - (x +10y) =27 == 9X -9y =27 divide both sides by 9 = X-Yy=3 @

solve the two equations together by yourself x =7and y =4

........................................................................................................................................................................................................................................................... @
[E] ‘. let the measures of the two angles are X and ¥

Two acute angles in a right-angled triangle = X+¥Y=90 ®

the difference between their measures = 50° = X-y=50 @

solve the two equations together by yourself x =70and y =20

........................................................................................................................................................................................................................................................... -9
'+ (3,-1) is the solution set of the equation:ax + by =5 ~3a-b=5 ®

> (3,-1) is the solution set of the equation:3ax + by =17 s.9a-b=17 @

Multiply the two sides of equation (1) by - 1 Weget: -3a+ b= -5 3

adding @ + @ Weget: 6a =12 Sod=2

By substitutingin ) .. b=1

mleasiclinjmathematiespYAInewjsvanting
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